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Question Number : 1 Question Id : 4509386401 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a real valued function f:[a, ) — [b, ) defined by f(x)=2x% - 3x+5 is a bijection, then

3a+2b=

fila0) -[b,0) OF 28 P FO§ W00,  fG)=20-3xt5 T

NG 300300S & 3 (NDODRS, 3a 4+ 2b =

Options :
20
1. #
10



Question Number : 2 Question Id : 4509386402 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The domain of the real valued function f(x) = ;-— +V4—-9x? is
Jlogg5(2x-3)
W o SO 1 —_—m -,
o0 Ja) oD § @3)0?00 flx) = ———+ V4 — 9x2 QW& @fﬁ%o

o ..‘."IOEUE(EI—S)

Options:

52)

Null Set
£°55 DS
2. %
2
—
52)
3_ W



Question Number : 3 Question Id : 4509386403 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2545948134 11 17-F+1010terms —

25+59+8.13+11.17 4+ - 10 2T 0050 =

Options :

3355

1375

1380

Question Number : 4 Question Id : 4509386404 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1 1 1
g* B% ?
a® b

Options :

(a—b)(b—c)(c—a)(a+ b+ )

(@ —=Db)(b—c)(c—a)



(a— b)(b—c)(a— c){ab + bc + ca)

(a —b)(b—c)(c —a)(ab + bc + ca)
4. &

Question Number : 5 Question Id : 4509386405 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
1 2 3 . o
i A= [ 2 r] and aA“ + fA = 2] forsome a,f € Rthena + [ =
reg =Ny

A= [_12 _25] DB @, B ER OB aA? + fA =21 OB a + B =

Options :

7

1. #

Question Number : 6 Question Id : 4509386406 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The system of equations x+2y+3z=6, x+3y+52=9, 2x+5y+az=12 has no

solution when a =
Do SN x+3y+52=9, x+2y+32=6, A +5y+az=12 B O
Fjriﬁéfg);jCé) a=

Options :

Question Number : 7 Question Id : 4509386407 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If m. n are respectively the least positive and greatest negative integer values of k such that

-k
—| =—l.thenm-n=
1+t

_n
(2) = _j @qﬁ‘bgmﬁp &OT k DENIOS SODT m. 1 e 502 08

1+

B0 1B HEFT0E VENNOONB m —n =
Options :

4
1.4



2.

3% ©
]

4.8% °

Question Number : 8 Question Id : 4509386408 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

23t

If a complex number z 1s such that g purely imaginary number and the locus of z 1s a closed
!

curve, then the area of the region bounded by that closed curve and Iying in the first quadrant 1s

z-2i

— &0 DS ED)¢ D03 TSIV &ed) 28 N08E N0 HBAM z Ty

22
0G0 2.8 505 S50 B INGE FS0S GO, & oSy HEND

80029000 (3P0 FF°030

Options :

2T
1. %

(ST

2. &

3. %

|

4. %



Question Number : 9 Question Id : 4509386409 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

(cos a+i sin a)®

Real part of 1%
L (sin b+i cos b)®

(cos a+i sin a)®
(sin b+i cos b)®

ABNEY PR 210

Options :

sin (6a — 8b)
1. #

cos(6a — 8b)
2. ®

sin(6a + 8b)

cos (6a + 8b)

Question Number : 10 Question Id : 4509386410 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
1
4 + — =
T
Her—ow
Options :



(2 + x-"’g), (2 — 1@)

Question Number : 11 Question Id : 4509386411 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If x2 4+ 5ax + 6 = 0 and x% + 3ax + 2 = 0 have a common root then that common root is
x? +5ax+6= 0 DO 2+ 3ax + 2 = 0 ANEEETOR 2.8 GG rO0 &0,
& €500(8 PO
Options :
3 (or) —3

3(Bor) -3



2 (or) —3

2 (So) -3
—2 (or) 3
—2 (S 3
4, %

Question Number : 12 Question Id : 4509386412 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If a, f,y are roots of the equation x> + ax? + bx + c =0thena t + 1 +y 1=

a,B,y 03 +ax? +bx +c =08 Swreren @on@ el +pl+y L=

Options :
a
c
1. %
b
C
2. ¢
C
a
3. %
b
a



Question Number : 13 Question Id : 4509386413 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the roots of the equation x> — 13x? 4+ Kx — 27 = 0 are in geometric progression then K =
X% = 13x% 4 Kx — 27 = 0 HE6£0 T30%) soreren ea (3ES ot K =
Options :

—30

1. %

30

39

=30

Question Number : 14 Question Id : 4509386414 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If all the letters of the word MASTER are permuted m all possible ways and words (with or

without meaning) thus formed are arranged in dictionary order. then the rank of the word

MASTER s

MASTER H30S 2 ©98) 050708 83 Soed)o8 @dnd)d S odo

BAD) ANOENHS R (55006 @087 € (35506 MASTER &7 3¢50 GRwE), &8
Options :

]

%]



N
o
-1

2. %

257
3. ¢

752
4. %

Question Number : 15 Question Id : 4509386415 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If set A contains § elements then number of subsets of A which contam at least 6 elements 13

W 0 '-""5 i FRT AR
A 63 ANBS 8 LHrOsTENoD), V0 6 AFOTENOT A B GHINHO

o}
Options :
28
1. #*
i,
2. #
3 ¢ 37
32
4, %

Question Number : 16 Question Id : 4509386416 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The number of different permutations that can be formed by taking 4 letters at a time from the

letters of the word ‘REPETITION 18
‘REPETITION’ 930 800 9950°0 D08 2370 4 95000 &fd TS

280 A2, (DT o
Options :

1380
1. %

1218

1398

1286

Question Number : 17 Question Id : 4509386417 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Numerically greatest term in the expansion of (5 + 3x)%. when x = 1.1s

x =1 @aNSIED (5 + 3x)8 DB HOFPIGOMT HBR DI

Options :

3® x 5%
1. %

33 % 53

2. ¥



32 x 5°

34 % 54

Question Number : 18 Question Id : 4509386418 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2 24 246

3736 369"

o

Options :
3
5
1.¢
L
5
2. %
2
3. % 3
3\ /3
5)
4. %

Question Number : 19 Question Id : 4509386419 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If 1 Ax+E n Cx+D " BD _ AC
= 1en — =
x3+1 x242x+1  x2—2x+1

1 = AxtiB Cx+D
x4+1 x242x+1 x2—2x+1

€O, BD —AC =

Options :

3
1.¢

L ;

8
2. %

1
3., %

0
4, %

Question Number : 20 Question Id : 4509386420 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The smallest positive value (in degrees) of § for which

tan(f + 100°) =tan(# + 50°) tan(f) tan(# — 50°) is valid. is

tan(§ + 100°) =tan(8 + 50°) tan(§) tan(f — 50°) TEFEN WADIEIED Ged) 6 TRF)

403 Sared % Dens (Gl S

Options :

1% 60



45°

2. &

30°
3.¥

5%
4. %

Question Number : 21 Question Id : 4509386421 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The value of 5 cos @ + 3 cos (H -+ g) + 3 lies between

5 cos B + 3 cos (5 —I—g) + 3 Q38 VNI

Options :

—2 and 5

—2 08050 5 © NG GOLNOS

1. W
—1 and 8
, 1 oA 8 © NEE GSOLNOS
2.
—3and 6
—3 083 6 © G GOLNOD
3. %

4.



—4 and 10
—4 DBAW 10 © NG GOLNOH

Question Number : 22 Question Id : 4509386422 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Statement (S1): sin 552 + sin 53% — sin 19° — sin 17° = cos 2°

5 1 .1 %
Statement (S2): Range of ———— 15 [—, —]
- 3—cos2x 4 2

Which one of the following is correct?
1909230 (S1): sin55° + sin53° — sin 19° — sin 17° = cos 2°
(D35S0 (82): ﬁtﬁmé& 5 a) E ;]
8OO TS DE Hehgadn?
Options :
Both (S1) and (S2) are true
(S1) o080 (S2) BOCET €550

1. %

Both (S1) and (S2) are false

(S1) DB (S2) BOCET @6e58a50
2. ®

(S1) is true. (S2) 1s false

(S1) 55N, (S2) @955
3. %

4.+



(S1) 1is false. (S2) is true

S1) 936526000, (S2) B8
2l 2

Question Number : 23 Question Id : 4509386423 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The general solution of 4 cos 2x — 43 sin2x + cos3x — /3 sin3x +cosx — 3 sinx =0

4 cos2v — 43 sin2x + cos3x — 3 sin3x +cosx — 3 sinx =0 owg),  rdw
NEAIN

Options :
nir
7 3
’| e
nit g T
Z 6
2_ F
T n T
2 12
3. ¥
nir
2 12
4. %

Question Number : 24 Question Id : 4509386424 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The general solution of 2 cos? x — 2tanx +1=0 is

2 cos? x — 2 tan x +1=0 Q30E) TG PG
Options :

—I-TT cZ
ne + —,n
B

& +H EL
?1.7?_4,?1

T
2nm ig, neEL

ntt+t— nez
3

Question Number : 25 Question Id : 4509386425 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

cosh [::51'1111'1 (-u"'g)-l—cos.h'l 5) =

Options :
V6+a2
1. %
15+8V3
2. v



67V6+10v2

8-15v3

Question Number : 26 Question Id : 4509386426 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In a triangle ABC. if r; =27, = 3r;3. then sin A:sinB:sinC =

-5
2.8 L@QﬁJEﬂG ABC © 1, =2r, =31, €900, sin A: sin B: sin C =

Options :

5:4:2
1. =

3:4:2
2 %

bh: 32
3. =

5:4:3
4.

Question Number : 27 Question Id : 4509386427 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In AABC if B = 90° then 2(r + R) =
AABC &S B = 90° @008 2(r + R) =
Options :

a+b

b+ ¢

a+c

Question Number : 28 Question Id : 4509386428 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a triangle ABC. if (a—b) (s—c) = (b—c) (s—a), then r+1; =

2.8 [_@aﬁ}ﬁﬁ ABC [55 fa—b) (s—c) = (b—c) (s—a). 0N ryTr3 =

Options :

' —1I3
1. %

315
2. %

21"2
3.¢¥



30 1712 )

Question Number : 29 Question Id : 4509386429 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If L. M. N are the mid points of the sides PQ, QR and RP of APQR respectively. then

QM+IN+ML+RN-MN-QL=

L, M, N &) SO APQR G30%) 2h2s0e0 PQ. QR, RP © Shcs Hotheyen @ons

QM+IN+ML+RN-MN-QL=

Options :

PQ + QR + LM + MN

1. %

LP + PM + MQ
2. ®

PQ + QR — PR
3. %

LM + MN + NR
4, %

Question Number : 30 Question Id : 4509386430 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let axb=71-5—4kand a=1+3j—2k. If the length of projection of b ondis

8 =

T then |b‘ =

dxh=7i-5j -4k OO @ =1437-2kDT0A. @ D b AEY ©0D T WD
8 -

S (3a)) 7= 0008 [b] =

Options :

Question Number : 31 Question Id : 4509386431 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let ABC be an equilateral triangle of side a. M and N are two points on the sides AB and AC

respectively such that AN = K AC and AB = 3 AM. If the vectors BN and CM are perpendicular,
then K=

ABC ©930 B0 ched a ™ 0 28 daberao (@202, AB SO0 AC
20200 SHI™ M DA N &7 Docehen AN =K AC HBAN AB=3 AM
93D &m) A, EFEN BN aBAD) CMEN OO0 &OT), K=

Options :

1.4



2
2. % .
1
5
3 #
2
5
4. %

Question Number : 32 Question Id : 4509386432 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let @ and b be two non-collinear vectors of unit modulus, If i = d — (n . b)b and 7 = X b,
then || =
7 o560 b e 2,863 ST ffe> B akren 5 Bock SO, 7= a- (a.b)b

00 7 = d X b ®oNs,

v

Options:

|| + |i . @l
1.+

Jal
2. % 2



lie] +

Question Number : 33 Question Id : 4509386433 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The shortest distance between the skew lines r = (—f_' —j= 31_{) i t(S? s ZLJ and
r=(7i+4k)+s(i-2j+2k) is
ORPRIOPEN T = (i — 2j - 3k) +£(3i — 2j - 2k) DO
7= (70 +4k) + 5(i - 2j + 2k) © D5 5V G0
Options:

15

16

Question Number : 34 Question Id : 4509386434 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
If m and M denote the mean deviations about mean and about median respectively of the data 20.

5.15.2.7. 3. 11 then the mean deviation about the mean of m and M 1s
20, 5,152, 7. 3. 11 0 o 0TS T @050 DOG nOain
05010 H0d 10 03D AIOTOD m HBAM M APAR, m HEAN MK

¢ 908063500 N0 110) DE5eN DLIO0

Options:
1
v 7
38
2. % 7
36
g2

3. %
37
i

4, %

Question Number : 35 Question Id : 4509386435 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 7 different balls are distributed among 4 different boxes, then the probability that the first box

contains 3 balls 1s
7 D) 20HE 4 D) DVOSAE HodS TavdS, WSS DV 3

2060 GOETNE D0ATE



Options :

35 (3)3
128 \4
1. ®
35(3)4
64 \4
2.
¢y
8 \4
3. 3
Q)
16 \4
4, %

Question Number : 36 Question Id : 4509386436 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Out of first 5 consecutive natural numbers, if two different numbers x and y are chosen at
random, then the probability that x* — y* is divisible by 5 is
INGE 5 DD TS 0O NG TOH D) DOV 1, ¥ O
OIS0 o) 500D, x4 - y* @90 5 T 2rNODANEPRS (e H0aredsed

Options :

2
5



i [ QY =

3.¢

Ul =

4. %

Question Number : 37 Question Id : 4509386437 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A bag contains 2 white, 3 green and 5 red balls. If three balls are drawn one after the other

without replacement, then the probability that the last ball drawn was red is

28 H0DS 2 BOD, 3 9193 HOOK 5 I 20K 09, BN 208 SO
TEI00T 2.8 T S DHTE OB ST 20MOD BRI, D6
B 208 IO TS H0PHse

Options :
2
3
1. %
3
4

2. %



O |G

| =

4.

Question Number : 38 Question Id : 4509386438 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

There are 2 bags each contaming 3 white and 5 black balls and 4 bags each containing 6 white
and 4 black balls. If a ball drawn randomly from a bag 1s found to be black. then the probability

that this ball is from the first set of bags 1s

257863 3 BOY), 5 JO 0ED SR 2 d0HEN DA 2,572,563 6 SO, 4
SO 2060 DA 4 H0THED GTLN. OTFCYDIEOT 2.8 H0D) HOd B
28 208 JONG BOW, 8 208 GE HoNO IVBSAE FHFNS

NOTANT
Options :
25
- h7
25
41
2. ¢
2
5



U] W

Question Number : 39 Question Id : 4509386439 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If two cards are drawn randomly from a pack of 52 playing cards, then the mean of the
probability distribution of number of kings 1s
52 8B en do 28 DY Hod Toh ¥ KOS ordyd)som

ha. v ” — :
3N ), T°270 0D QALY NOZTISTF J2FZ0 QNS B08NE 50

Options :
215
221
1. %
13
2. ¥
188
221
3., %
13
4, %

Question Number : 40 Question Id : 4509386440 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

In a consignment of 15 articles, 1t 1s found that 3 are defective, If a sample of 5 articles is chosen

at random from it. then the probability of having 2 defective articles 1s

15 Yl 28 arer JBHS T Shen SR 08 &)
SR, TADOE AFGIDEOT 5 SJen 0 28 ToNO D
D) 5008, 90 2 50 2P SOR GOBErS Hoeresed

Options:
256
625
1. %
64
625
2. %
128
625
3.¥
8
625
4, ®

Question Number : 41 Question Id : 4509386441 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If a variable straight line passing through the point of intersection of the lines x —2y+3 =10
and 2x —y — 1 = 0 intersects the X, Y - axes at A and B respectively. then the equation of the

locus of a point which divides the segment AB i the ratio -2 : 3 15
x-2y+3=0, 2-y-1=0 J¢Be) Dot Dochay hom &¥dd 2.8 60D
JBYBD X, V-850 SONT A DO B © ¢ 20, T5r D0k AB

—2:3 086 D2520T Dockhe B Dochind HN¥Be0
Options :

14x2 + 3xy —15y2 =0

1. #
xy = 14x + 15y
2. %
x2+xy—y%2=0
3. %
14x 4+ 3xy — 15y =0
4.

Question Number : 42 Question Id : 4509386442 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Pomnt (—1,2) 1s changed to (a, b) when the origin 1s shifted to the pomt (2,—1) by translation of
axes. Pomnt (a, b) is changed to (c, d) when the axes are rotated through an angle of 45° about the
new origin. (c, d) is changed to (e, f) when (c, d) is reflected through y = x. Then (e, f) =
AFODON)D  r0ds @58 i Dotha) (2-1) SO
20ePON0DY ) (~1,2) Do) (a,b) T PO, rehed T DO
©TON 45° §008 |HDE0 TRNID (a,b) Dodsy (c,d) ™ ardod. y =

(c,d) Q (232020 (¢, d) D0 (e, f) T 008 @16 (e, f) =
Options :

(0,3v2)

(3v/2,0)
3. ¢

(1,2)

Question Number : 43 Question Id : 4509386443 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The pomnt (a, b) 1s the foot of the perpendicular drawn from the point (3, 1) to the line

x+3y+4=0.1 (p,q) 1s the image of (a,b) with respect to the line 3x — 4y + 11 = 0. then
'

a ; b

(3,1) DO DO x + 3y + 4 = 0 5D KD 0PSO (a,b) DO,

3x — 4y + 11 = 0 0 (59aF§ (a, b) B0, (D020 (p, q) ©ONS, 2 +% =

Options :

—3
1. %

=5
2. ¢

5
3. %

7
4, ®

Question Number : 44 Question Id : 4509386444 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A ray of light passing through the pont (2,3) reflects on Y-axis at a point P. If the reflected ray

passes through the point (3,2) and P = (a, b) then 5b =

(2,3) Doche) thom &5h 2.8 0 8060 Y-850 P &3 D0othe) 56 dorddo

ToS08. 086 B9, (3,2) Dochs Hom F0d HBAW P = (a,b) SO,

5b =

Options :



1. %

a—13
2. ®

a+13
3. %

a+>b
4, %

Question Number : 45 Question Id : 4509386445 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The area (in square units) of the triangle formed by the lines 6x% + 13xy + 6y% = 0 and

x+2y+3=01s

6x% + 131y + 6y% = 0 .0O0W x + 2y + 3 = 0 3DOS T |BehHE0 ) FTe)0

(¢85 SrALS)

Options :
'9/2
1. %
45/4
2. %

9/8



B

Question Number : 46 Question Id : 4509386446 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The angle subtended by the chord x + y — 1 = 0 of the circle x? + y? — 2x + 4y + 4 = 0 at the

origin is

5620
Options :

6
cos™1 (:)
vV 34

1. %

oA

2
cos™ ! (t)
V13

3. %

w| A

4. %



Question Number : 47 Question Id : 4509386447 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let P be any point on the circle x?4y% =25. Let L be the chord of contact of P with respect to the

circle x*+y% =9. The locus of the poles of the lines L with respect to the circle x*+y* =36 is

52 =25 B0 P BT 28 Doy, x*4y?=9 Syals P ) 08 L.

Options:

yZ= 20x
1. #®

2 i },2_

9 36
2. %

x2+y2=400
3. ¢

§2 j,z_

25 16
4, %

Question Number : 48 Question Id : 4509386448 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the circles § = x?+y? - 14x+6y+33=0 and §'=x*+y* - a®=0(a € N) have 4 common
tangents then possible number of values of a 1s
DTN § = x24y? — Hr+6y+33=0 DO S'=x24y2 - a2=0(a EN) &0 4 o)l
3)8) 020 80 &0, a 0 FPCE0DE DN 0D

Options :

13

4.+

Question Number : 49 Question Id : 4509386449 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the area of the circum-circle of triangle formed by the line 2x + 5y + @ = 0 and the positive

coordinate axes 1s Q?Tn sq. units, then |a| =
26+5y+a=0 &% 09 &S AFIFTOS JO)T (@220 Y 2858
ITO30 % 2305659 CRFBS, @99 ch |a] =
Options :
25

1. %

2. &



10

400
4, ®

Question Number : 50 Question Id : 4509386450 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The circle § = x?4+y? — 2x —4y+1 =0 cuts the y - axis at A, B (OA > OB). If the radical axis of

S=0and S = x® 4y — 4x —2y+4 =0 cuts the y - axis at C then the ratio in which C divides

ABis

§ = x4yt - 2x - 4yt =0 B0 y- OFTV) A, B © G 20GDOA (0A > OB). $=0

000 §' = 144y — 4y - 244 =0 YT DFEFEO Y - T € 58 DOAN AB D

C 20&0T AN

Options :



Question Number : 51 Question Id : 4509386451 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the circle S = 0 cuts the circles x2+ % — 2x+ 6y=0, x*+y* — 4x —2y+6=0and

x*+9% — 121+ 2y+ 3 =0 orthogonally, then equation of the tangent at (0. 3) on $ =0 is
S =090 1%+ 52 = 2+ 6y=0,x%+ 52 - 4x = 2p+6=0a080W
x243% = 121+ 2+ 3=0 SYTOD ©020T DOAW, B:HyB0 § =0 (0. 3) Docha)

56 518 B Ne0gdeo

Options :
x4y —3=0
y=23
a4
x:="f
3. %
xr—y+3=0
4, %

Question Number : 52 Question Id : 4509386452 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The normal drawn at a point (2. —4) on the parabola y = 8x cuts again the same parabola at

(o, ) then a+p =
(2, -4) 5 y? = 8x JTIOATRS AR ©De02 T 86 ©F HTH0aT) (. f)

cﬁC;} 3})0(?9_?;9 o=
Options:
3
1. %
16
2. %
24
3. %
30
4.

Question Number : 53 Question Id : 4509386453 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
L X . .
If a tangent of slope 2 to the ellipse = + 'b—fl touches the circle x%+y% =4, then maximum
value of ab 1s
x2

2
=1 i’—:z:'l B 39T 2 a0 1 09)502 x2+y2 =4 SR, D93, ab T0E)

(16 DENS
Options :

_,_1_



2. %
3
3.
5
4. %

Question Number : 54 Question Id : 4509386454 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The locus of the mid points of the chords of the hyperbola x* — y* =a? which touch the parabola

v =4daxis

20CDY® DONG0

Options:

x(v? —x%) = ay?

1.4

x(x%+y?) = y*4x

ax>+y3 = 3x



Question Number : 55 Question Id : 4509386455 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

- T ik .
If the product of eccentricities of the ellipse T—ﬁ + ;—2=1 and the hyperbola % = T—6= — 115 . then

b=

L ghey ¥ oy N vy = et o B
i BY 390 HB Sl 9 NTIONP Q) &S00S

920 1 ONSD, b=

Options :
12
25
1. %
144
2. %
25
3. #®
144
25
4.

Question Number : 56 Question Id : 4509386456 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
If A(1,2,0),B(2,0,1),C(=3,0,2) are the vertices of A ABC. then the length of the internal
bisector of ZBAC 13

A(1,2,0),B(2,0,1),C(~3,0,2) & AABC G0%) T©NS, £BAC G30E) ©0SE

NeE) 1O B 8¥¢hed
Options :
3v6
1. %
Zx-fﬁ
3
2.
6314
3 %
26
3
4, %

Question Number : 57 Question Id : 4509386457 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The perpendicular distance from the pomt (—1,1,0) to the line joining the pomts (0,2, 4) and

(3,0,1) is

(-1,1,0) Dohs) Ho& (0,2,4) HOAW (3,0,1) Dochayered O TP (e

000

Options :



10

1. %
245
2. % .
5
V2
3.¢
8
4, %

Question Number : 58 Question Id : 4509386458 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A line L passes through the pomts (1,2,—3) and (3,3,—1) and a plane m passes through the

points (2,1,-2),(-2,-3,6),(0,2,—1). I § is the angle between the line L and plane 7. then

27 cos? 0 =

L 93 28 00D (1,2,-3) HOAW (3,3,—1) Dochaye thom &¥eéod HOAW 1

O &8 00 (2,1,-2),(-2,-3,6),(0,2,-1) Dothaye how aFéhod. OO L

A0 $O0 7 © NE)E §80 § OB, 27 cos?§ =

Options:

| ]
h



[ ]

Question Number : 59 Question Id : 4509386459 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

; x3 —27
¥=3 X2 —9
Options :
3
1. %
9
2
2.9
3
3. %
2
4., =

Question Number : 60 Question Id : 4509386460 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. — |3ax-2b, x>1 . . ) .
If f (X) = [ax b1, x<l and | xlln f (x) exists, then the relation between a and b 1s

- _ | 3ax-2b, x>1 R -
flx)= [QHML i m}ﬂ}f 0 BANSLIONS, 1 HOO b ©
DE$ 00CIN
Options:
3a—2b=1
1. %
2a—3b=1
2. ¢
2a.1+3bh=1
3., %
2a + 3b = -1
4. %

Question Number : 61 Question Id : 4509386461 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

s ?
The function f(x) = {E <3 s

5—x, x=3

Flx) = {5 x’ ‘i: R (D000

Options:



left discontinuous at x = 3

x = 3 90 DD DS 0
1.¢

left continuous at x = 3

x = 330 DD @D N0

2. ®
right discontinuous at x = 5
x =500 500G D)0
3. %
discontinuous at x = 5
x =50 DDIN)0
4. %

Question Number : 62 Question Id : 4509386462 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

. dx (dy\® = dZy
If y = f(x) 1s a thrice differentiable function and a bijection then — (—) ==
| dy? \dx dx?

y=f() OO JrHTD @800 WHoho DB Hshe

@ibcﬁmﬁ (dr) 487

dx?

Options :

ot
. |



—

4.+

Question Number : 63 Question Id : 4509386463 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
x%sin (E) . XED
Kiflx) = g : Which of the following is true?
0 . =)
x%sin (3) ;. K EB ;
flx) = i @08, %808 FES O JBsN?
0 ;o & =8
Options :

f(x) is continuous and differentiable if 0 < a < 1

0<a< 1008, f(x) @WADIN)0 B0 95A0NO.

f(x) is discontinuous and not differentiable if 0 < a < 1

0<a<1eond, f(x) DDIN)0 BN 9352000 5°¢.



f(x) is continuous and differentiable for @ > 1

a > 1008, f(x) ®IDID)0 B0 e9:5EJODO.

f(x) is discontinuous and differentiable for @ > 1

a > 10N, f(x) DI HBAN SEHIANO.

Question Number : 64 Question Id : 4509386464 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let f(x) = min {x, x%} for every real number of x. then

(263 TPed DODS x BV, f(x) = min {x, x?} ®OVS

Options :

f(x) 1s continuous for all x

D) X VNI, F(x) DD IO
1.

f(x) is differentiable for all x

@) x DENNOEY, F(x) @55HONO

fllx)y=21forall x =1

@A) x > 1 DENIOBY, f'(x) =2
3. ®



f(x) is not differentiable at three values of x

x AB0EY ST DeNde 38, F(x) IEHIONO 5D

Question Number : 65 Question Id : 4509386465 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ify=(1+a+a’+..)e™. where « and n are constants. then the relative error in y is

@ 00 1 0 VIV0DIEN BN y = (1+a +a+...)e™ @B, y S P

SITor i X

x &S A0

percentage error mx

x &S EH 350

2 %
n. (error in x)
n.(x S 820)
3.¢
n. (Relative error in x)
n. (x S g EH0)
4. %

Question Number : 66 Question Id : 4509386466 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the equation of tangent at (2,3) on y% = ax® 4 his y = 4x — 5. then the value of a® 4 b% =
(2,3) 30 y = 4x - 5 @R y? = ax® 4 b TEY )60 O, a? + b? =
Options :

51

58

Question Number : 67 Question Id : 4509386467 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If Rolle’s theorem is applicable for the function f(x) = x(x + 3:)8_17 2 on [-3,0]. then the value
ofcis

Fo) =x(c+3)e 12 1NDOTRS [-3,0] DO O 200 @ddoadsd, ¢
0305, eNe)

Options:



3and — 2

3 B3 — 2
2. %

==
3. ¢

s,
4. %

Question Number : 68 Question Id : 4509386468 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
For all x € [0,2024] assume that f(x) is differentiable, f(0) = -2 and f’(x) = 5. Then the
least possible value of £(2024) 15
[0,2024] & x TR0} 9, DENHOL, £(x) OSEOAAN0, £(0) = —2 DO
F1(x) 2 5 OR B0, @) F(2024) 83 50N SR DENW

Options :

10.120



Question Number : 69 Question Id : 4509386469 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

J' 2x? cos(x?) — sin(x?)
=

x2

Options :
sin(x?)
+ €
%3
1_ e
cos(x?)
TR
X
2. %

sin(x?) + ¢

sin(x?)
——+ec

Question Number : 70 Question Id : 4509386470 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If | mg(Hx w1l flx }log( )) +tan"(h(x)) + c, then h(x) {f(.\’) +f G)] -

flog{xl:x f(&.}log( )-I—tm '(h(x)) + ¢, @O h(x [ff\) +f( )]

Options :

h(x)g(—x)

g(x)

2. &

g(x) + g(—x)

g()h(x)

Question Number : 71 Question Id : 4509386471 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let f(x) = [ oy 4% HEF3) ——10g( )thenf(

FO) = [ gy SDE0TA. F(3) = %log(g) oS, £(0) =

Options :

g
|. "‘u??



2. %
1 71
2 Dg(g)
3_ 4
g (5)
Dg 3
4. %

Question Number : 72 Question Id : 4509386472 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

[ 2 cos2x Jr =
4 (14+5nZx)(1 1 cos2x) » =

Options :

2tanx + log(1 + tanx) + ¢

tanx — 2log(1 + tanx) + ¢
2. ®

2log(1+4+ tanx) +tanx + ¢
3. %

2log(l1+ tanx) —tanx + ¢



Question Number : 73 Question Id : 4509386473 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
X 2
( . ) it =
XCOSX —sinx
Options :
X COSecXx
: + cotx + ¢
XCosSX —sinx
’] e
X COSecXx
, —cotx +
XCoOsX —sInx
2. ¥
X COSecXx
; +cotx + ¢
XCosSXx +sinx
3. #®
X
, —cotx + ¢
XeOsSx—sIink
4, %

Question Number : 74 Question Id : 4509386474 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If lim [(l -I-H%) (l -E—:—z) (l + %) (1 + :—D] =qel. thena+ b =

n—oo

2

lim [(1 +ni)(1 +$)(1 aniz) (1 +;—2)]% — qe? ©ONS, a+ b =

n—oo
Options :

m— 2

T+ 2

o |

Question Number : 75 Question Id : 4509386475 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T
f x sin*x cos®x dx =
0

Options :
32
312
1.¢



256
HZ
256
3 %
a2
512
4. %

Question Number : 76 Question Id : 4509386476 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
I
I, = |, /a tan™x dx, then I3 + I;; =

ki)
I = |, /4 tan"x dx OONS, I3 + I;; =

Options :
13
1. %
1
12
2. ¥
1
10



Question Number : 77 Question Id : 4509386477 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The area (in sq. units) of the smaller region lying above the X-axis and bounded between the
circle %+ y? = 2ax and the parabola y? = ax is
24yt =2ar )20 DO Y2 =ar JTHOATD NP5 0P B

Y980 &, 2 2o &0T §5) (B0 By 37050 6 OIS

Options :

Question Number : 78 Question Id : 4509386478 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The difference of the order and degree of the differential equation
d%y dy (d“y) (d"'_v) R
(dxz) (dﬁ) dx? dx* =0

-7/2 2 -5/2

(@) [dg—") —(“E-") (@):D O 980N dEGR0 BNE) HBSTHO

dx? dx® dx? dx*

-7/2 e

BN @) G0E) a0

Options :

5
1. %

3
2. %

4
3. ®

2
4.

Question Number : 79 Question Id : 4509386479 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If xdy + (v + v®x)dx =0and y = 1 at x = 1. then

xdy + (v + y2x)dx = 0 DB x =158 y =1, ©0NS

=

Options :



y=—-—
1+ logx
1. #
~ 1+logx
P X
2. F
v = x(1+ logx)
3. %
1
V= —
~ x(1+logx)
4, &

Question Number : 80 Question Id : 4509386480 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The solution of x dy — y dx = \/x? + y? dx when y ('\ﬁ) —11is

y (V3) = 1 @008 x dy — y dx = /32 + y2 dx, T0E) ¢3S
Options :

yZ 4+ \;"12 + y2 = x?

5y —/x2 +y2 = x?



v o -\v-'llfz + }72 == .\'2

Svi —Jx2+y? =x

Physics
SectionId: 450938139
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 81 Question Id : 4509386481 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The percentage error i the measurement of mass and velocity are 3% and 4% respectively, The

percentage error 1n the measurement of kinetic energy is
¥, ~ L e v ob v, Y Y vy —p M
2,8 509 BE) (395078 SOBS 3% B0 00N S 4% BaFeso

NS, T (13338 oSS Bareo

Options :



11%

1.

12%
2. %

14%
3. %

8%
4. %

Question Number : 82 Question Id : 4509386482 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A car travelling at 80 kmph can be stopped at a distance of 60 m by applying brakes. If the same

car travels at 160 kmph and the same braking force 1s applied. the stopping distance 1s

80 kmph 06 ()OS0t 2.8 56 Ben 32 60m ErdodS sdGI0.
33 5 160 kmph SK0S |DOIPeIods, ©F 2008 BHed Sy & e
A

Options :

240 m
1.4

170 m
2. %

360 m
3. %



480 m
4, %

Question Number : 83 Question Id : 4509386483 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A 2 kg ball thrown vertically upward and another 3 kg ball projected with certain angle (6 # 90)

both will have same time of flight. then the ratio of their maximum heights 1s

2,8 2 kg 208 AQNYTD, 0T 3 kg 208 50 §0 (8  90) S (S

e

20

DR aP¢3 HeHIsereD Nur0. o ared e JEe) )

Options :

243
1. %

FE
2. %

V3 : 2
3. %

1:1
4.

Question Number : 84 Question Id : 4509386484 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a sport event a disc 15 thrown such that 1t reaches its maximum range of 80 m. the distance
travelled in first 3 s is (g = 10ms™2)

S SFES 28 AR & 80m 183 T3 GOBELD VT, WoNd &b &) 3
24908 T3 Erdo (g=10ms™)

Options :

80 m
1. ®

60 m
2. ¥

72 m

74 m

Question Number : 85 Question Id : 4509386485 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A block of mass 18.5 kg kept on a smooth horizontal surface 1s pulled by a rope of 3 m length by

a horizontal force of 40 N applied to the other end of the rope. If the linear density of the rope 1s

0.5 kem ™ ‘and initially the block is at rest. the time in which the block moves a distance of 9 m is
28 )R § 832 QAP0 007 GO 185 kg |(3:5T73 (1) 2.8 B 3m
ey o @B 8, @b DTS T35 40N 582 desrodd 200 (HEFA0D
erTr. @ DL0D PO(CE 0.5 kem™ HOOM Sened A AT VBS' G0,
B 9m TG0 500 NS Fo0

Options :

1.



3s

5s

75

95

Question Number : 86 Question Id : 4509386486 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A Dblock of mass 1.5 kg kept on a rough horizontal surface 1s given a horizontal velocity of

10 ms™.If the block comes to rest after travelling a distance of 12.5 m. the coefficient of kinetic

friction between the surface and the block is (Acceleration due to gravity = 10 ms™?)

2.8 % § 32 Nairoedd 5307 Gotd 1.5 kg (35073 i) 2,8 BF050 10 ms™
§ 323 NoIr0edy DAY IS, A 125m Grdo [DATFEoNS Shared

Do P DO, Serdd Hioy Aas ddiie fed odn Heaso
(thSded § e 56€a0 = 10 ms™2)

Options :
0.2
1. %
0.4

2. ¢



0.8

0.6

Question Number : 87 Question Id : 4509386487 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A force of (6% — 4x +3) N acts on a body of mass 0.75 ke and displaces it from x = 2m to

x = 5m. The work done by the force is

0.75 kg |5a95 T2 HE) S5 od) 20 (632 — 4x + 3) N2OO Q) DR I Ne)0 x = 2m 0

x = 5m 8 F2030 TOAOTD. 20 90 28R
Options :

201]
1.9

215]

229 §

307 ]

Question Number : 88 Question Id : 4509386488 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A ball falls freely from rest on to a hard horizontal floor and repeatedly bounces. If the velocity of
the ball just before the first bounce is 7 ms™* and the coefficient of restitution is 0.75. the total
distance travelled by the ball before it comes to rest is (acceleration due fo gravity=10 ms™2)

2,8 208 7% 26 DO VI GG 2.8 § 2 daiT0edd )07 DG B3
) 97 58 B TTD. 208 F0dE 8 Berd) @3 §£0 00 TR o
7ms™ SO0 (DT (D650 0.75 WOV, & 206 JTW) Vel § THHRIOS,
98 |DOTEI0 D 0B g0 (HX § 65060 =10ms?)

Options:

10.75 m
1. ®

9.75 m
2. ®

8.75 m
3. ¢

11.75m
4. %

Question Number : 89 Question Id : 4509386489 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A solid cylinder rolls down an inclined plane without shipping. If the translational kinetic energy of

the cylinder is 140 J. the total kinetic energy of the cylinder is

28 a0 Q%0 2.8 7N $00 2 0T TN A. 0 TG Jr0esde
1245 140 T 90 A0 GR0E) 0o Hededs

Options :



1057

2. %

21017
3.¥

28017

Question Number : 90 Question Id : 4509386490 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two blocks of masses m and 2m are connected by a massless string which passes over a fixed

frictionless pulley. If the system of blocks 1s released from rest, the speed of the centre of mass of

the system of two blocks after a time of 5.4 5 1

(Acceleration due to gravity = 10 ms™)

5507 He0 m HOAN 2m Ko Todh BIOD Db T VY §a) DT
FHD), 28 BOTS TE0S ST, B 539D VTN VB 0B OO,
54500 ST OO e TRE) (3073 TO[C0 e

(D3 209890 =10ms?)

Options:

6 ms™!

1.4

S ms
2. %



4 ms”

12 ms!

Question Number : 91 Question Id : 4509386491 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The displacement of a particle executing simple harmonic motion is y = Asin(2t + ¢) m, where t
is time in second and ¢ is phase angle. At time t = 0. the displacement and velocity of the particle
are 2 m and 4 ms ™. The phase angle. ¢ =
DY 2P0 8 HORN0 DO 2.8 860 TS(040 y = Asin(2t + ¢) m, BECH t
500 DZ0HS HBKM ¢ G0 00 t=05¢ a0 T|0d0 HBK Fo

ST 2 m OO 4 ms L. 7§60, ¢ =
Options :
60°

1. %

30°

45°
3.¢

90°
4. %



Question Number : 92 Question Id : 4509386492 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The displacement of a damped oscillator is x(t) = exp (—0.2t)cos (3.2t + ) where t is time in
second. The time required for the amplitude of the oscillator to become — times its nitial
oL

amplitude is

2,8 @58 ¢ Go¥o BE) TZ070 x(t) = exp (~0.2t)cos (32t + 0), 8,8 t 50

by o v, T T 0 W V. 0o 1 L
250D, B0 09 H0WS TR & 0D HBNHE — 0 o
2ENTO0

Options:

%]
o

6s

8s

Question Number : 93 Question Id : 4509386493 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Maximum height reached by a rocket fired with a speed equal to 50% of the escape speed from the

surface of the earth is (R - Radius of the earth)

2790 G080 HOG HEPNS SAS 50% %) ASTFIRS SAS 2.8 05 o
208, 80 TO 1182 A R - Ararsrdo)

Options :
2
1. %
16R
9
2. %
R
3.¢ 2
R
8
4, ®

Question Number : 94 Question Id : 4509386494 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If the work done in stretching a wire by 1 mm is 2 J. the work necessary for stretching another wire

of same material but with double radius of cross section and half the length by 1 mm 1s

2,8 81 1mm FHAOCHOS 260 9 2] o8 3805 DT FeRrdsn
B0 S0 csed $OR, T HG0S TaHS HFE S 1 mm FERMEHS
SaH02S 53

Options :



16
1.¢ ]

8]
2. %

1]
3. %

1

el
4, %

Question Number : 95 Question Id : 4509386495 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

IfS,. S, and S; are the tensions at liquid-air. solid-air and solid-liquid interfaces respectively. and

6 1s the angle of contact at the solid-liquid mterface. then
S;. S, DB S5 SO [(3630-T), NNDTPYO-TE) DM NINTE0-|(3e30
o030 BP0 I GOT BreheN, OO DNTYO-IS0 Gl B0 3¢

963820 6 NS

Options :

Sycosf +S,sinf = S,

Sicos@ +S3 =5,
2.¥



S,cos0 +53;=5;

%

S;cos8 +5; =5,

Question Number : 96 Question Id : 4509386496 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If ambient temperature 1s 300 K. the rate of cooling at 600 K 1s H. In the same surroundings. the

rate of cooling at 900 K 1s

HBTE SIS 300 K &), 600K ¢ 3856 ey H. oF H8Tes
900 K ¢ 95856 B

Options :

16 1

3
1.+

2 H
2. %

2 H
3. %

= H
4, % 3

Question Number : 97 Question Id : 4509386497 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An ideal heat engine operates in Carnot cycle between 127 °C and 27 °C. It absorbs 5 x 10* cal of

heat at higher temperature. Amount of heat converted to work is

2,8 €3¢95) Gl ODHO(0 127°C SHBAM 27°C & D5 50 ) zﬁ[_&éo{ﬁé M TATOTARETA
908 o119 236 5 x 10 cal G5 (Tr)00. WONS AT a7 trale)BairEI0

Options :

4.8 %X 10* cal

1. %

2.4 X 10* cal
2. ®

1.25 X 10* cal
3. v

6 % 10% cal
4, %

Question Number : 98 Question Id : 4509386498 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
i i 0 ; ; 4 -
One mole of a gas having y = ol mixed with one mole of a gas having y = 7 The value of y
for the mixture is (y is the ratio of the specific heats of the gas)

i g 00 2.8 Frd PO Y = % NN 2.8 IrO TS SO, woNS
€3 2[00 GRVEY ¥ DENS (y — a0 DTS AN



Options :

5

11
1. %

11

15
2. %

15

1%
3.v

5

13
4. %

Question Number : 99 Question Id : 4509386499 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A Carnot heat engine has an efficiency of 10 %. If the same engine 1s worked backward to obtain

a refrigerator. then the coefficient of performance of the refrigerator 15

28 56 Ga0H00 10% E S 00 $08. & 6) aHoB0d, FBOLE
OHOSOT FeH88 TR, ISEGe aholBo Thngy (Sairdee Heago

Options:
3
1. %
9

2. &



Question Number : 100 Question Id : 4509386500 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The rms velocity of a gas molecule of mass ‘m’" at a given temperature is proportional to
e o = T w— i b o
00 &il|iied O m (363507 110 AN T0EY ms Bifel S08 FES TS

: 2
DS ITNFH0S Y0ENOE?

Options :
m*
1. #
m
2. %
y'lﬁ
3, #®
1/\ym
4.

Question Number : 101 Question Id : 4509386501 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The speed of a wave on a string is 150 ms ™ when the tension is 120 N. The percentage increase

in the tension in order to raise the wave speed by 20% s

S5 120N o S0BS S:S80H S& 150 ms™ 5 SEOK B 20%

20T00E), S0|BS KO SzBd DOVSOV Tehesd
Options :

44
1.¢

40

22

20
4, %

Question Number : 102 Question Id : 4509386502 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The minimum deviation produced by a hollow prism filled with a certain liquid 1s found to be 30°,

The light ray 1s also found to be refracted at an angle of 30°. Then the refractive mdex of the hquid

15

500 BT 2,8 |3X0S A0S, T Eda) NI §ea0 30°. 5708 30° S90S

885030 TOAS, &3 (950 TE) S(8%aded Hreado

Options:

V2
1.¢



2. ®

3

Jz
3_$3

3
4, % ¥

Question Number : 103 Question Id : 4509386503 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In Young's double slit experiment, the intensity at a pomt where the path difference is P (A being

the wavelength of the light used) is I. If I denotes the maximum intensity. I / 1 isequal fo
0

ahofi 2ot 0O airtos, T A¢Bgo o Dochy S SIS 1
(1- GBS S0 TR0E) SB0K B50). Ip SR 185 BN AT, ! Ji. =

Options :



4.

Question Number : 104 Question Id : 4509386504 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two particles of equal mass ‘m’ and equal charge ‘q’ are separated by a distance of 16cm. They do

not experience any force. The value of 1% 15 (if "G’ 1s the umversal gravitational constant

and ‘g’ 1s the acceleration due to gravity).

D350 W, D0 FF0 ‘g EORS Toch Seren 28T 16em o

G 00, @9 Jerod 2678 SFBE. JsHNS: DT0gN ¢ B0

(D6 565 ¢33 ‘g’ ONB, ~+ HEN)

m

Options:
NE 1IN E
1.4
G
\Jﬂlm_f,:,
2. %
Teg
G



J 4megg
4. %

Question Number : 105 Question Id : 4509386505 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the following diagram, the work done in moving a point charge from poimt P to point A, B and
C are Wy, Wy and W, respectively. Then

(A. B. C are points on semicircle and point charge q is at the centre of semicircle)

2,8 0 SSTAY IS WPAEY P Hodel D0 A, B B0 € Do
SE% BRHTHEOES BT I SEWT W, Wy SO0 W, @00E (4,B,C e &5
90 2 Hoch)en BN ©F 29B0 s Do SO Do B350 q &) d)

b

q
0

Options :

Wy=Wz= W;#0

1.¢

WA = WE‘ > M’rc

WA =2 H,-rE =< ch
4, %



Question Number : 106 Question Id : 4509386506 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Four condensers each of capacitance 8 pF are joined as shown in the figure. The equivalent

capacitance between the points 4 & B will be

2,535,638 iF SRR KO arent TP HR0S s DGO Hoerdo
DODDATTON. 4 OO B DOCDY® 0I5 ) TaPNTIN) 0EH?

Options :

32 uF
1.4

Question Number : 107 Question Id : 4509386507 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
The resistance between points A and C in the given network 1s

80 B D60 SR 505 & A HBOM € oY s ABO

R
M
| -
A LA — A A
R B R D
A
R

Options :

R
4

ra | =

2R
3. %

4.+

Question Number : 108 Question Id : 4509386508 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A steady current 15 flowing in a metallic conductor of non-uniform cross section. The physical

quantity which remains constant 1s

©ID08 odT) FToo Ho a8 SW) o & dodd S
RPN VB, YOO &0% 783 07

Options :

Electricity current density

N5 |y aIr0(Cied

1. %
Drift velocity
1&e) Jifo
2. % TR
Electricity current density and drift velocity
NS (DT FPO(C3ed HOAW (B Sif0
3. % -
Electric current
4 DN ESB (DT O

Question Number : 109 Question Id : 4509386509 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A wire shaped n a regular hexagon of side 2 cm carries a current of 4 A. The magnetic field at the

centre of hexagon is.
2,8 8108 E0¢)8 8560 8 006 ) 2020 sy 2 em, FOHES 4A

DS (3aT0A. BONS 1¢)2 300 G SO0 § ($07

Options :

4V3x 1075 T
1. ®

8V3x10™°T
2.

V3x 1075 T

6vV3x10>T
4, %

Question Number : 110 Question Id : 4509386510 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A tightly wound coil of 200 turns and of radius 20 cm carrying current 5 A. Magnetic field at the

centre of the cotl 1s

200 HEY, 20 em TGOS DD DHAAS 2§ SHNHS A kS
:5er00), @0 s 3¢50 HO eahar08 § 0.

Options :

LT
1. ¢

14210 27T
2. ®

628 x 1074 T

628x 10°3T
4. %

Question Number : 111 Question Id : 4509386511 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The domain in ferromagnetic material is in the form of a cube of side 2 um. Number of atoms in

that domain is 9 X 10'° and each atom has a dipole movement of 9 x 1072* Am?. The

R e e Sy
2,8 D TD0HRT 08 HE B S 2 pm 20B0 FEYIO DTEIRS &35)0. &
B S 9x 100 HESTEDHN 283863 9x 10724 Am? B3G5y 46)
GO, 1800 ¢3S B SOHT,0BEBE0 (FDPH)

Options :

1.4



10 x 10* Am™?

8 x 10* Am™1

2. %

12 x 10* Am™?
3. %

9x 10* Am™1!
4 %

Question Number : 112 Question Id : 4509386512 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Magnetic field at a distance of 1 from z axis is B = B,rtk present in the region. By is constant and

‘t' 15 time. The magnitude of induced electric field at a distance of r from z-axis is.

2.8 [0S 2950 0f 1 SrdosS 006 30 B = Byrtk &) 0. a8d

By’ D050 SHOKD ‘¢ 500, NS 2 @50 H0f 1 ErSOS (WOS E03S (b

OO,

Options :
BGI‘E
3
1. %
2w B,r
3



2™
3. %
B,r*
3
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Question Number : 113 Question Id : 4509386513 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A series LCR circuit is shown in the figure, Where the inductance of 10 H. capacitance 40 uF and

resistance 60 Q are connected to a vartable frequency 240 V source. The current at resonating

frequency 1s

2,8 LCR (363 500H0 808 tradod. HAS 10 H(DF%0, 40 iF §030 HOaN

60 Q NGOV 2.8 240 V 3G el 2FRS E020SR). N8 @S

)50 G NI |NaTarO

R

Wy

Options :

4 A
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Question Number : 114 Question Id : 4509386514 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An electromagnetic wave travel in a medium with a speed of 2 X 10®ms™. The relative

permeability of the medium is 1. Then the relative permittivity is

2,8 QS80S ACDSBONRT06 SE0KO 2 X 108 ms™ SES (HAPEID0E. & Airds
08, 1034 306 1. ©90n® & aFE s RN

Options:

1.75

b2

-3
(]
Lh

Question Number : 115 Question Id : 4509386515 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The longest wavelength of light that can mitiate photo electric effect in the metal of work function
9eVis

R (NDAN0 9 eV ) S3F0S 508 DS HOR) BFH0DEAE @IIEH
fBa) b0t B0

Options :

1.37 x 107 "m
1.¢

1.5x 10 "m
3.7%X 10 "m

4%107"m

Question Number : 116 Question Id : 4509386516 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A hydrogen atom falls from n™ higher energy orbit to first energy orbit (n = 1). The energy

released is equal fo 12.75 ev. The n® orbit is

TIEER H0Sres o 48 Frow 885 oD e 48 Frow 885 (=1)
HOFonA. B (N EDS 12.75 ev © 45 De5e) 260 nth £ 5

Options:

n—4
1. ¢



n—23

2. ®
n—==~o6
3. %
=5
4, %

Question Number : 117 Question Id : 4509386517 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The decrease in each day in the Uranium mass of the material m a Uranium reactor operating

ata power of 12 MW is (Energy released in one g, |J 2*° fission is about 200 MeV)

12 MW © 3508 9 ToiuthS) e B0 8050 & B8 adAaHo
S 71595079 DI (55U 2 DB Tod #§ Dchcde g ey
200MeV)

Options:

12.64 X 10~ 2 kg

1. %

11.50x 1072 g
2. %

12.64 kg
3. %

12.64 g

4.+



Question Number : 118 Question Id : 4509386518 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
When a signal is applied to the input of a transistor it was found that output signal is phase- shifted

by 180°, The transistor configuration is

28 H03E) 1IN0 AFAWS @00 TS, & oSbo (ErRING

Dy TOSH) H03B0 STBS0S  180° 38 TodsS, B 1ErRIN5
HEIVAW

Options :

CB — configuration

CB — a375c00dD)

CE — configuration
CE — a)t°§edod)
2. %
CC — configuration
CC — DO
Both CB and CC — configuration
CB SB35 CC D5
4, %

Question Number : 119 Question Id : 4509386519 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

: ; +H2V
The voltage V, in the network shown 1s

HOOS BrD $00006S ST v,

3

0.7V Si 73\‘\ 2.2V (green)

Options:

Vo =113V
1.¢

V, =98V
2. %

Vo, =120V
3. %

Vo =87V
4. ®

Question Number : 120 Question Id : 4509386520 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A message signal of 3 kHz 1s used to modulate a carrier signal frequency 1 MHz, using amplitude

modulation. The upper side band frequency and band width respectively are

3kHz © ede)ed500©) 0T N0Z0TR), 1 MHz FPSse) 35010 aPsTE H0T0SenS
S0 S0 SrcHTE TADAOA. D T83 HE3 redecyedsain sBAM 96
) DV HDNT

Options:

1.003 MHz and 6KHz
1.¢

0.997 MHz and 6KHz

2. %
. 1.003 MHz and 3KHz
1.003 MHz and 2ZMHz
4, %
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Question Number : 121 Question Id : 4509386521 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In the ground state of hydrogen atom. electron absorbs 1.5 times energy than the mmnimum energy
(2.18 %1078 J) to escape from the atom. The wavelength of the emitted electron (in m) is (m, =
9x 1073 kg)
ARG G H N0STEN JOIFR, HOSTENs) Hod 20H0% IenIcherd
539810 §0) 48 (2.18 x108 1) §0 1.5 BEY 457 11150008, IS JOIFTD

Fﬁdodgggo (m %’)fﬁs) (m, =9 %1073 k)

Options :
h x 10%*
1@ vV 1.962
h
dlk 1)
+/1.962
h
X 107
v1.962
3. %
h
x 1022
v 1.962
4, %

Question Number : 122 Question Id : 4509386522 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A golf ball of mass ‘m’ g has a speed of 50 m 51, If the speed can be measured within accuracy of

2%. the uncertainty i the position is

m g © (S50 e 15 ) 2208 o 50 ms™. R BT 2% S 0¥ SOSIORTDE,
T TR0 S 03¢5 50

Options :
h
4mm
1. %
h
16mm
2. %
h
x 103
4mm
3.¢¥
h
% ||
l6mm
4,

Question Number : 123 Question Id : 4509386523 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the first ionisation enthalpy of Li, Be and C respectively are 520. 899, 1086 kJ mol™. the first

ionisation enthalpy (in kI mol™) of B will be
Li, Be sHBOM € © 66 OTFTEAS OGO € SENT 520, 899, 1086 kJ mol?
0N, B 165 OTNFTEAS 0T (K] mol! &)

Options :

1. %



487

, % 950
L o 801
4 % 1402

Question Number : 124 Question Id : 4509386524 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which of the following sets of molecules. the central atoms of molecules have same

hybridisation?

1800 ©EN)O HVHOS TS, @80:H F0(E58 BTN 2.8 90865800

£0) o)y n?

Options :

NH;. ClF3

H>0. 503

SF4 CH4

XeFe, IF7
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Question Number : 125 Question Id : 4509386525 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The correct increasing order of number of lone pair of electrons on the central atom of SnCly. XeF.
CIF3and SO3 1
$Ch, XeFy, CIF; B0 803 ©S'Q To|d% HOSTEN) DS &) 2006 208

DOTR © D0DS BT DD [$odraln

Options :

SO3 < ClF3< SnClz < XeF2

1. %

SO3 < SnCh < CIF3 < XeF2
2.9

XeF> < SnCl < ClF3< SO;3
3 #

XeF> = ClIF3 = SnCl < SO3
4, %

Question Number : 126 Question Id : 4509386526 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct statements from the following
. Foranideal gas. the compressibility factor is 1.0
Il The kinetic energy of NO (g) (molar mass = 30 g mol ™) at T(K) is x ] mol ™. The kinetic
energy of NyO4 (g) (molar mass =92 g mol ™) at T (K) is 2x ] mol !
II.  The rate of diffusion of a gas 1s inversely proportional to square root of its density
806 aPE3S’ O arssOD Mool
L 8336) aPoinR) NoChE Headw 1.0
I TK)SONO (@) @Zrerd 200 =30 g mol™) G0E) 1693 45 x Jmol™. T(K) o5&
N204 (2) (367D 27030 = 92 g mol ™) (§€323 45 2x  mol !

M a8 o) TS0 TR Fods JOrerdE ASSEardod

rlOlAVOIA

Options :

EIL HI
1. %

I1. IIT only

IT. ITT &30°(€5 30
2. % )

L. IIT only

I, T o307 €503
3.¢ )

L. II only

I I 307 €5 530
4. %

Question Number : 127 Question Id : 4509386527 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The following graph is obtained for a gas at different temperatures (T1, T2, T3). What is the correct

order of temperature? (x-axis = velocity; y-axis = number of molecules)
28 PO NG Gl (Tr, Ty, T3) 5O 1508 (M 0DoD0d. &sfiiide
RO (50200 B? (x-098 0 = Bi10; 7-95 0 = DY HODS)

Options :
Ta=T1>=T;s
1.¢

Ta =T33 =T
2. %

Ts>=Ti1>TH
3. %

Ti=T2>Th

Question Number : 128 Question Id : 4509386528 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following stoichiometric equation

P4+ 3 OH + 3H20 — PH3+ 3x

What is the conjugate acid of x™ ?

BO& oS T35 DSBS HBIZO0THAN
P4+ 3 OH +3H:0— PHs+3x

X~ O30EY DO €800 DE?

Options :

Phosphorous acid

2P0 )8R €300

1. %
Hypophosphorous acid
)G o0
2.¢ 5= :
Phosphoric acid
TP )68 e300
3. %
Pyrophosphoric acid
i DOTF 85 9o
4,

Question Number : 129 Question Id : 4509386529 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements
Statement - I: For isothermal irreversible change of an ideal gas. ¢ = —w = Poyt (Vrinas — Vinitia)

Statement - IT: For adiabatic change. AU = Wy gi0patic

The correct answer is

1508 BOCh 550 Dd SAF°ON

38T 2,8 €058 T O50a) AT (680630 e %0,
g=-w=> ext(meae ~ Vinitiat)

520511 D028 S50, AU = Wagignari

HBT NaSPRSain
Options :

Both Statement-I and statement-II are correct

33§20 §-1 a0 3§ §-1T BOCH® DEQD)
1.¢

Both Statement-I and statement-II are not corract

o $D -1 oD B o §§-IT BOCH® DO 5o

2. ®
Statement-I is correct but statement-II 1s not correct
3§D S5-I ABADAIE 57 ° 5 S-IT DB ADAIE 5°¢H
3. %
Statement-I 1s not correct but statement-I1 1s correct
5 §-1 BRI 5°CH 5o W S-IT QBDIE
4, %

Question Number : 130 Question Id : 4509386530 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A thermodynamic process (B — E) was completed as shown below. The work done is equal to area

under the limuits
2,8 Galieds 180D B — E) 808 d¢jorr o8 @onod. 260 IR &) @Sche
PEROTILRANENAY,

Options :
A—> B—>E—>F
4l |
1. #

A—> B—>>E—2>D—=>0

T |
2. %

B—>C—>D——>F

ik |
3.¥

B—> G—>E
4. % T |

Question Number : 131 Question Id : 4509386531 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



K. for the following reaction 1s 99.0

T(K)
Ay(g) ==By(0)

In a one litre flask. 2 moles of Ay was heated to T(K) and the above equilibrium is reached. The
concentrations at equilibrium of A2 and B2 are C1(A2) and C2(B2) respectively, Now. one mole of
A2 was added to flask and heated to T(K) to establish the equilibrium again. The concentrations of
Ay and By are C3(As) and C4(B2) respectively, What is the value of C3(A2) inmol L7
1806 t58550 Ke )€ 99.0

T(K)

Ag) ==Bg)

28 OO0 PSS 2 TG © A & TK) S65 FGTD 3 NHTBY Ford.
DTV 36 Az DO B TREHdEN T Ci(Az) HAOE C2(B2). DY) 2.8
3O A D S 0% SO TK) H6% 3G TP 2 HHERe ©Hod0d.
2)CD DT VB HO A GO By © et ST C3(A7) NGO Cy(By).
C3(A2) DN mol LIS 0es?

Options :
1.98

1. %

0.01
2. %

0.03
3.¢¥

Question Number : 132 Question Id : 4509386532 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
What 1s the conjugate base of chloric acid?

565 e3500 G3nEy 5702 TIE) B0 DE?
Options :

Clo;
1. %

clo~
clo;

clo;

Question Number : 133 Question Id : 4509386533 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The correct statements among the following are
L Saline hydrides produce H gas when reacted with water
i, Presently ~77% of the industrial dihydrogen is produced from coal
. Commercially marketed HyO; contains 3% Hy0;
1808 PBS’ DB TN
L B0 BE 0 S B985 SO Hy TONHANPON
i (NS0 §O 0D ~77% FOTNE B 3 EBM o SOSFHTQT G
i, g ar0med 80 T SrGE) S ©D0T H0s. 3% Hi0p & $E) a00enod

Options :

1. 11, 111



1. 111 only
i iii o7 SHa
2.9 i

ii, il o30°(€H a3

3. %
1. 11 only
4w il S|

Question Number : 134 Question Id : 4509386534 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The correct order of decomposition temperature of MgCOj3 (X). BaCO;3 (Y). CaC0Os (Z) is

MgCO3 (X). BaCOs (Y). CaC03 (Z) © Dadded o6l (5e) 3B |Saddadld

Options :

Y Z X

1.¢

Yo X =7

X ¥
4, %



Question Number : 135 Question Id : 4509386535 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Identify the correct statements
1. Oxidation of NaBH; with I gives BoHg
1. BoHgburns in oxygen and releases an enormous amount of energy
1. BoHe on hydrolysis gives a tribasic acid
DO EDIOD HBododk
i D& NaBH: &8)535690 BaHs ) )ed
i, BHse8)2d S 06 @HE HBSFR0S GaFd) ANSE TR0

i, BoHs 20 D30 TOO (B5E ST DO
Options:
1. 11. 111
1. %
1. 111 only

i, iii 03| €530

1. 11 only

i, ii 5377 €h 3
3. ¢ :

i, il o307 €D 330
4, ®

Question Number : 136 Question Id : 4509386536 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which one of the following is used as piezoelectric material?

1808 ¢3S BA DE°DEDIS Do scserty?

Options :
tridymite
E3&EE
quartz

) v TI0E
zelolite
20°8E)

3. %
mica
QS®

4. %

Question Number : 137 Question Id : 4509386537 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two statements are given below
. Indrycleaning. the solvent Cl,C = CCly was earlier used and now it 1s replaced by liquefied
COy
I  Inbleaching of paper, H202 was used earlier and now it 1s replaced by chlorine gas

Correct answer 18

1506 TOCD ar§305620 @ad 20
L o HO 80, P850 Che = CCh & (eI &HTTAOTardh 5
VS0 B EIEN (56 B0 SR €O ey &
I SHEo dSgo oGS, srd 0 H0; & GHRrA0Tad 59 ()60
B 20 §8R ToHs)R ) &
Q8D Bara
Options :

Statements I. IT both are correct

S 55eN L I BOCH O8I

Statements 1. IT both are incorrect

Q°EWEEN I IT BOCH 8D 5%

Statement I 1s correct but statement II is incorrect

) 55 T OO 57 °520 5 I ABRSE 3¢
3.

Statement I 1s incorrect but statement I1 1s correct

OS5 T ABADPNIE 5°¢H 5°Q 75§ I ABDAE
4, ®

Question Number : 138 Question Id : 4509386538 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Tropolone 1s an example for which of the following class of compounds?

BOB ) DT 8578 (NS W 2.8 SrrarSea?
Options :

Benzenoid aromatic compound

BORTONE DOX¢3E O ¥S0

Non-Benzenoid aromatic compound

L. T°R-BOETONE B335 S FS0

Alicylic compound

DO EE D FS0

Heterocyclic aromatic compound

i 2e30 288 D857¢38 53S0
a.

Question Number : 139 Question Id : 4509386539 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What are X and Y respectively in the following reaction sequence?

KMnO, dehydration
[sopentane - X - Y

Major

1BOB VTS BNOES X S0BAN Y €0 SEM DD?

_ DEOES
FBetE X 2 =28

L |

(P

Options :

Ao .
A
) Ao

4. %

Question Number : 140 Question Id : 4509386540 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Some substances are given below
Ag: CO (s): 8102 ZnS
SO (s): AIN: HCI (s): HoO (s)
The number of molecular solids and network solids in the above list 1s respectively
§'R) TN |50 B ST
Ag: CO2 (s): S102: ZnS
SO2(s): AIN: HCI (s): H20 (s)
209 S (D) D 0 ST HBAN 2O DS DETT 0DE SBT

Options :

&3
1. %

Question Number : 141 Question Id : 4509386541 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The ATy, value for 0.01 m KCI solution 1s 0.01 K. What 1s the Van't Hoff factor?

(Kb for water = 0.52 K kg mol %)

0.01 m KCI [TFIETRS AT €05 0.01 K. a0OE) &35 (9530 0eh?

(Q¢3 Kp=0.52 K kg mol™})



Options :

1.52
1.4

1.72
2 %

0.96
3, %

0.86
4. %

Question Number : 142 Question Id : 4509386542 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

200 g of 20% w/w urea solution is mixed with 400 g of 40% w/w urea solution. What is the weight

percentage (w/w %) of resultant solution?

200 g © 20% wiw OPOOST |TPIETR). 400 g © 40% wiw ONFOOSP | TR DT,
D0 [T 278 THO (whw %) JOEh?

Options :

30.33
1. %

33.33
2. %

36.33



28.33

Question Number : 143 Question Id : 4509386543 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2.644 g of metal (M) was deposited when 8040 coulombs of electricity was passed through molten

MF; salt. What is the atomic mass of M? (F = 96500 C 11101'1)

8040 52002 © DD 11030) MF2 ©6620 HOE® 0D 2.644 g © S'eF0

(M) D8 0. M G308}, IaiTread | Sa)30°8 087 (F = 96500 C mol™)

d

Options :
63.47u
1.4
- 63.54u
2. %
31.74 u
3., %
61.48u
4, %

Question Number : 144 Question Id : 4509386544 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The first order reaction A — Bg) + 2C(g) occurs at 25 °C. After 24 minutes the ratio of the
concentration of products to the concentration of the reactant is 1:3. What is the half life of the
reaction (in min)? (log 1.11 =0.046)

TN 8508 L385 0N A= B + 209) 25 °C 5O BOASE. 24 min Sared
Boirzarse) B (S0Ir2SE0 © Meso NS 13 T &) . 85 OTaNsS

(min ©6) 05? (log 1.11 = 0.046)
Options :

1505

142.2

157.8

15.78

Question Number : 145 Question Id : 4509386545 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following has maximum coagulating power in the coagulation of positively charged

sol?

G333 S 9065808 1800 3 TS (1833 306509 0G50 §oC?
Options :

Gl
1. %



S02~

.
P03~
3., %
[Fe(CN)g]*"
4.9

Question Number : 146 Question Id : 4509386546 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the autocatalytic reaction from the following

1BOA a¢3eS” D500 (B8 TGS HB0THAW

Options :

Ny(g) + 3Hy(g) —m)

INH;(g)
¥ TMo(s) (&)

IKCIO(s) =222 KCI(s) + 30,

CH,COOC,H; + H,0 ——— CH;COOH + C,H;OH

AgNO;(ag+KCl(aq) = Ag(Cl(s)+KNOs(aq)

Question Number : 147 Question Id : 4509386547 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The anode and cathode used in electrolytic refining of copper respectively are

55 D35S §¢550 S BIHBFAOY 8SG, SEE 0 SO
Options :

Pure copper. impure copper

i HO 5705, @H8HG 5%00
1.

Impure copper. pure copper

- e9H8HG 5530, HEC 5235

Pure copper, pure zinc

DG 5730, DY 2208

Impure copper. pure zinc

. 29589H 5200. DO 208

Question Number : 148 Question Id : 4509386548 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The disproportionation products of ortho phosphorous acid are

230 PO IBR 3600 TBNEY, @I DPeh Ered Jo) e

Options :

1 ¢ H3POa. PH3



H3PO>. Hj3 POs3

2. %

H3POs4. HPOs
3. %

H;3POs3. P>H4
4. %

Question Number : 149 Question Id : 4509386549 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In neutral medium potassium permanganate oxidises I~ to X. Identify the X
$E30) OfreS80ES HEFAcHO HomONRE, I @Al X e8)560t0eb. X &
D800

Options :

Todine

o030

Iodate

OBNTE
2.

Per 1odate

HO oBNTE
3. %

Hypo 1odite
T ©BNZEBE



Question Number : 150 Question Id : 4509386550 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The spin only magnetic moments of the complexes [Mn(CN)¢]*~ and [Co(C,0,);]> are

respectively

[Mn(CN)]*" 0808 [Co(C,0,):1*" 0Tl )Q Sirdeh ADHRT06 (ZFadsen

AT
Options :

284 BM. 0BM
1.4

2. %
0 BM. 3.87 BM
3. %
5.92BM. 2.84 BM
4. %

Question Number : 151 Question Id : 4509386551 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

PHBV 1s a biodegradable polymer of two monomers X and Y. X and Y respectively are

PHBV @38 X. Y &% 30¢h 375end 2.8 255 00rEyed A0, X, Y €0 ST

Options :



X = (C2Hs5-CH(OH)-CH2 CO2H
Y = C2Hs-CH(OH)-CO2H

X = CH;3-CH(OH)-CH,CO:H
Y = C2 Hs-CH(OH)-CH2CO2H

2.
X =CH;3;-CH(OH)-CH-OH
Y = C2Hs-CH(OH)-CH2CO2H
3. %
X =HaN-(CH»)5-CO2H
Y= CH3-CH(OH)-CH,CO;H
4. %

Question Number : 152 Question Id : 4509386552 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The carbohydrate which does not react with ammonical AgNO3 solution 1is

OIIESO AgNO; [P0 1385 SOB 520 ) X BE
Options:
Sucrose

1578

1.4

Maltose

536328



Lactose

-
erSes
%®
Fructose
D8
4,

Question Number : 153 Question Id : 4509386553 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the amino acid which has

—NH, » —COH and —'CI3I—NH2 groups
0]

—NH; - — CO,H DB A —illl—NHz SIS WSS TNY
O

5 &) DS €500 HE0TSW.

Options :

Alanine

DOT

1. %

Arginine

SIOFNES

Asparagine

&S8R



Aspartic acid

. 3 )PS5 e300

Question Number : 154 Question Id : 4509386554 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The structure given below represents

1808 @558 AT£20 HA PN,

NH, SO,NH,

H:N

Options :

Salvarsan

e B P

1. %

Pencillin

208
2. %

Prontosil

PSS DS

il

Sulphapyridine

HErINBGS



Question Number : 155 Question Id : 4509386555 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The major product (X) formed in the given reaction 1s an example of

80O B85S BT (DS 563510 (X) OIS 2.8 Srded

F

HBr

> X
(CgHsCORO,

Options :

Secondary alkyl halide

2808 @98, O B

Primary alkyl halide
12000 8FpO FFB&
2. ¥
Tertiary alkyl halide
BEAHE 8T FBEH
Benzylic halide
230885 FSH
4, %

Question Number : 156 Question Id : 4509386556 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Identify the Swarts reaction from the following

BOB 3°¢3 HOD 58] ) 85D H B0t

Options :

R— CH, — Br + Nal dry i
) al ——Y— R-CH, -1 + NaBi

2R— CH,— Br + 2Na—3Y 5 p_(CH,), -R + 2 NaBr

5 % ether
2CHCl + 2 Na——IY o C(H, — CgHs + 2 NaCl
ether -
3. %
2R—-CH; —Br + CoF, » 2R-CH, - F +CoBr,
4.9

Question Number : 157 Question Id : 4509386557 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An alcohol X (C4H10) reacts with Conc. HCI at room temperature to give Y (C4HoCl). Reaction

of X with copper at 573 K gave Z. What 1s Z?

2,8 8033 X (C4H100) (0 &&F|195 56 e HOL &' 1985508 Y (CaHCl) o B0
STIK QXS0 & 16568 Z o 3008, Z B?

Options :

Y



CHO

s S

Question Number : 158 Question Id : 4509386558 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1s Y m the following reaction sequence?

1806 Bors 1800 S Y 67

(1) Mg / dry ether
() 0y HB: (& &0)
+ HHO*+=—— Gy 5 X —m— ¥

(ii) Zn+ H,0 (CgHsC0),0, (ii) CO,
(iii) Hy0"

Options:

)\/ CHO



COOH

COOH

)\/ COOH

4. &

Question Number : 159 Question Id : 4509386559 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A carbonyl compound X (C3Hs0) on oxidation gave a carboxylic acid Y (C3Hg0;). Oxime of X 1s

2.8 58)3 9850 X (C3H50) 88580 & 5075105 @600 Y (CHs0y)

0,08, X 008} 83)) JO?

Options :

NH,

NOH



NOH

Question Number : 160 Question Id : 4509386560 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The correct sequence of reactions mmvolved 1n the following conversion 1s

1806 38)AS IS HB5 SV 1§00

CHa CHa
= ‘ S ‘ Br
e N
NO, CN
Options :
Bromination. reduction. carbylamine reaction
ISDTAS. 500880, 5°BIOIM IS
1.¢
Reduction. Bromination. carbylamine reaction

E008600. |SDIAS. 500D IS8

Bromination. reduction. oxidation

i SDTAS. 5008820,  e88388820
3,



Reduction. Bromination. oxidation

008800, |TDIAS.  e383)580

4. %



